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Read the following text and answer the question below.

ZDEICEHEH I N T WA LEICOWT T,
ZUEME L NBT A i TcE T HA,

(i (—3EBe&ZE) : https:/www.bbc.com/]

— 1 — OME(001—82)




Which of the following is the main idea of the text?

A.

Articles of sportswear worn by Michael Jordan are still the most valuable

items at sports memorabilia auctions.

. The Air Jordan XIlIs sold were worn by Michael Jordan during his last

championship season.

. The previous record for Jordan shoes was $1.47 million for a pair

auctioned in 2021.

. The shoes were given as a gift to a ball boy right after the Game 2 victory.
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2 Read the following text and answer the question below.

ZDESICEHEH I N T VW BXEICOWTII,
ZUEME L NBlT A Z L3 T T HA,

[H i (—EBE2ZE) : https:/www.indy100.com/]
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Which of the following statements is true?

A.

The discovery of IMIC may bring the opportunity to better understand

how life began on Earth.

. The finding of the second core leaves us little clue about the important

global events that have occurred so far.

. The iron crystals of IMIC have the same organization as the outer shell of

the inner core.

. The results of the earthquake analysis revealed that the entire Earth is

composed of a solid iron ball.
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3 Read the following text and answer the question below.

ZDEFICEEH I N T WA EICOWT T,
ZEMELNET A LI T T HA,

(H #L (—¥#RE%2S) : https://earthsky.org/]
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Which of the following best fills [ X 1?

A. air, land, and sea temperatures are far colder in Antarctica than at the

Arctic
B. phytoplankton require water that is rich in minerals

. their populations rise and fall according to cycles lasting several years to

decades

D. wvery little sunlight penetrates to the water below

—_—f O M6 (001--87)



4 Choose the best answer from A—D to rearrange the following

sentences in the best order.

ZDEICEHEH I N T WA LEICOWT T,
ZVEME LN T A2 T FHA,

(L (—3f8%ZE) : https:/www.scientificamerican.com/]
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A O—Q@—Q—@—0
B. D—@®—6—0@—®
C. 2—9—0—®@—®
D. 2—0—Q@—0—@
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Read the following text and choose the most appropriate word from

A—D tofillin ( 1 )—( 10 ).

ZDERICEE I N T W B XEICDOWTITL,
ZVEME L NI Az LI T FHA,
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ZDESICEHEH I N TV BXEICOWTII,
ZEME LT A Z LI CX T HA,

(1) A. peak
(2)  A. base
(3) A. causing
4) A. hig

B ALt

) A. from
(7) A. aware
8) A. raise
9) A. least
(1) A. expect
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HEeZE) @ https:/www.wired.com/]

0000000000

regular
basing

questioning

. multiple

. them

to
tried
rise
more

identify

YYD YUUUUoU

varying
basis
revealing
no

what
with
unsure
rising
most
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Read the following text and answer the questions below.

ZDERICEHF I N TV B LEICT DO W T,
ZUEtE L NBT A i TR T HA,
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ZDEICEHEH I N T WA LEICDOWT T,
ZUEME L NBET 3 i T T HA,
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Z DEICEF I N TV B LEITDOWT I,

ZUEtE L NBET 3 i T T HA,

(i (—fF8&ZS) : https:/www.nytimes.com/]

1 Choose the word from A—D which is closest in meaning to O — ®.

@D A. attraction B.
®@ A. claiming B.
@ A. defeats B.
@ A. flexibility B.
® A. collector B.

benefit

losing

improves

intelligence

driver

C. fear

C. rewarding

C. weakens

C. strength

C. thief

2 Choose the best answer for each question.

D.

penalty

. using

. wins

. weakness

. victor

(1} In the human-bird innovation arms race, who is playing defense?

A. birds
B. garbage collectors
C. residents

D. supermarkets
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2)

(3)

4)

(5)

A.
B.
C.
D.

A
B.
C.
D.

A.
B.
C.
D.

oo w >

What food is especially preferred by the cockatoos?
bread

chicken bones

ham

rubber snakes

Where is the institution where Dr. Klump is based located?
Asia

Australia

Europe

North America

What point of similarity between birds and humans did Dr. Klump
discover in her research?

speech

the ability to adapt tools for a specific purpose

the ability to transfer ideas and techniques within a community

the ability to use bricks and stones to close garbage can lids

What percentage of the residents surveyed reported guarding their
garbage?

64 percent

a little more than 100 people

about 17 percent

around 50 percent
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Answer the questions below.

1 Eri lives on a small island. She likes it very much because the views of the
ocean are beautiful, and there is often a cool gentle breeze even in the hot
summer months. What she really loves about the island, however, is that all
the people really love dogs and cats. Since she was a child, she has always
had a cat or a dog as a pet, so it is wonderful to be in a community where pets
are so valued. She is a member of a group called “Pets For Life,” and they
created a list of all the pets living on the island. According to the list, there
are 72 cats living on the island. She calculated that 70 percent of the pets on
the island are not cats. 50 percent of the pets living in the community are

dogs. Some people also have other kinds of pets like tortoises or hamsters.

How many pets on the island are neither a cat nor a dog?
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2 One evening, Shige had dinner with his friends. The food was very good,
and they had a good time. After the dinner, they took a subway. His friends
got off at Station A to change trains. Shige remained on the train. He heard
an announcement saying that the train would remain stopped at Station A for a
while. Shige waited on the train checking his cell phone. Exactly 15 minutes
after the train had stopped, he got off the train. As the station was a 1, 500-
meter walk from his house, he decided to walk home. It usually takes 20
minutes from Station A to his home, but this time it was different. After
walking three minutes, he found the road was closed for construction. He had
to go back to the station again. He hurried because he was getting cold and
wanted to get home quickly, so it only took two minutes to get back. In front
of the station, he learned the train was still stopped. Someone told him he
could walk another way. That way was complicated and long. Including the
fime talking to the person who gave him directions, it took four times longer
than the usual way. He arrived at home very tired. When he checked the
railway website on his smart phone, he found that the train had stopped at 8:30

p.m. because of an electrical failure.

What time did he arrive at home?
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3 Five children in one class at a school were playing a game together in the
classroom. Their names were Abe, Ben, Cathy, Ernie, and Geraldine. The
teacher assigned a different color for each child to play in the game. The
colors were red, blue, green, yellow, and purple. The children were sitting with
a partner at a desk for two people. The teacher shared a desk with one child.
The person assigned purple was sitting next to the person assigned yellow.
Geraldine shouted out that she hated red and the teacher kindly did not assign
her that color. Abe got his favorite color blue. Ernie was given yellow, and his
deskmate Ben immediately started making jokes about bananas. Ben was not

assigned green.

Which child was assigned the color red?
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4 Choose the best statement from A—F to describe the graph.

Library Usage by Time of Day
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10:30 12:30 14:30 16:30 18:30
Time of Visits

A. From 12:30 the number of visitors remains constant until bottoming out at
18:30.

B. The biggest change in the number of visitors is between 16:30 and 18:30.

C. The number of visitors more than doubles from 10:30 to the peak at 12:30.

D. The number of visitors rises and falls throughout the day with early
morning and late afternoon being the high points.

E. The number of visitors rises steadily throughout the day and peaks at

16:30.
F. There are fewer visitors at 14:30 than at 18:30 but more than at 12:30.
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